



(An Autonomous Institution) Coimbatore-641035.

UNIT-V DATA ANALYSIS

Multi Variate Analysis

Hultivariate Analysis:

Sample Hean & Sample covariance Matrix:

Formula:

Hean Vector:

Sample covariance Matrix

$$S = \frac{1}{n-1} \times T \left[I - \frac{1}{n} J \right] \times$$

Note:

$$\begin{cases}
\mathbb{Z}_{G(x,z)} = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}
\end{cases}$$

$$\begin{cases}
\mathcal{I}_{Cdx2} \\
0
\end{cases} = \begin{bmatrix} 1 & 0 \\
0 & 1 \end{bmatrix}$$

$$\frac{1}{3} A = \begin{bmatrix} 1 & 2 \\ 3 & 4 \end{bmatrix} B = \begin{bmatrix} -1 & -1 \\ 0 & 3 \end{bmatrix}$$





(An Autonomous Institution) Coimbatore-641035.

A×B =
$$\begin{bmatrix} 1 & 2 \\ 3 & 4 \end{bmatrix}$$
 $\begin{bmatrix} -1 & -1 \\ 0 & 3 \end{bmatrix}$
=> $\begin{bmatrix} -1+0 & -1+6 \\ -3+0 & -3+12 \end{bmatrix}$ \Rightarrow $\begin{bmatrix} -1 & 15 \\ -3 & 9 \end{bmatrix}$
Example: 1
Let × = $\begin{bmatrix} 4 & 1 \\ -1 & 3 \\ 3 & 5 \end{bmatrix}$ (3xa), Eften Fund
Ci) Sample amean vector \overline{x}
(ii) Sample covariance anatrix S
Solution:
 $n=3$, $p=2$
Ci) $x^T = \begin{bmatrix} 4 & -1 & 3 \\ 1 & 3 & 5 \end{bmatrix}$, $J=\begin{bmatrix} 1 \\ 1 \\ 3 \end{bmatrix}$
 $\overline{x} = \begin{bmatrix} 1 \\ 1 \\ 3 \end{bmatrix}$ $\begin{bmatrix} 4 \\ -1 + 3 \\ 1 + 3 + 5 \end{bmatrix}$
= $\begin{bmatrix} 1 \\ 3 \\ 4 \end{bmatrix}$ $\begin{bmatrix} 4 \\ -1 + 3 \\ 3 \end{bmatrix}$ $\begin{bmatrix} 4 \\ -1 + 3 \end{bmatrix}$





(An Autonomous Institution)
Coimbatore-641035.

(ii)
$$(I - \frac{1}{n} J) = \begin{bmatrix} 1 & 9 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = \begin{bmatrix} 1 & 1 & 1 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = \begin{bmatrix} 1 & 1 & 1 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = \begin{bmatrix} 1 & 1 & 1 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = \begin{bmatrix} 1 & 1 & 1 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 0 & 0 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} = \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix} \times \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 &$$





(An Autonomous Institution) Coimbatore-641035.

$$X = \begin{bmatrix} 10/3 \\ 16/3 \\ \hline{1}/3 \end{bmatrix}$$

$$X = \begin{bmatrix} 10/3 \\ 16/3 \\ \hline{1}/3 \end{bmatrix}$$

$$X = \begin{bmatrix} 10/3 \\ -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 2/3 - 1/3 - 1/3 \\ -1/3 - 1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 2/3 - 1/3 - 1/3 \\ -1/3 - 1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & 2 & 0 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & 2 & 0 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & 2 & 0 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & 2 & 0 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & 2 & 0 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & 2 & 0 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 2 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ 2 & 5 & -4 \\ 0 & 6 & 8 \end{bmatrix}$$

$$= \begin{bmatrix} 2/2 & -1/2 & -12/2 \\ -1/2 & 1.667 & -1.667 \\ -12 & 1.667 & -1.667 \end{bmatrix}$$

$$= \begin{bmatrix} -1 & -1 & 3 \\ -1/3 & -1/3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ 2 & 5 & -4 \\ 0 & 6 & 8 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ 2 & 5 & -4 \\ 0 & 6 & 8 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ 2 & 5 & -4 \\ 0 & 6 & 8 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ 2 & 5 & -4 \\ 0 & 6 & 8 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ 2 & 5 & -4 \\ 0 & 6 & 8 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ 2 & 5 & -4 \\ 0 & 6 & 8 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ 2 & 5 & -4 \\ 0 & 6 & 8 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ 2 & 5 & -4 \\ 0 & 6 & 8 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\ -1/3 & -1/3 \end{bmatrix}$$

$$= \begin{bmatrix} 1 & -1 & 3 \\$$